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KR103503G865 £7101750-2806(18-5) 20% 0.360 0.000
KR103503GA66 27101125-3006(20-5) 30% 0.652 -0.003
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KR103501GD32 F103250-2803(F 123-1)  26% 3.152 0.000
KAP Zx{5 TR x|
KR103501GD99 =1103500-2809(R 1123-6)  42% 3.152 -0.003
(HI2]|= Y59 ETN Al2]|X)
KR103501GE31 =103250-2903(F124-1)  20%  3.135 -0.005
R (712 R B 100% 3.149 -0.002
US91282CGK18 TIPS 1.125 01/15/33 20% 2,018 0.014
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(M2l = oj= UEg 0] X ETN(H)
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US91282CHT18 T 37/8 08/15/33 20% 4287 -0.007
US91282CJ)18 T41/211/15/33 30% 4287 -0.004
KAP O =410 TR X US91282CJZ59 T 402/15/34 509 4284 0.00
% . -0.005
(H2| = o|ZFxH10'3 ETN(H) Al2|=)
R (712 B 100% 4.285 -0.005
US912810TT51 T 4 1/8 08/15/53 20% 4.481 -0.003
US912810TV08 T 4 3/411/15/53 30% 4.469 -0.001
KAP O|=x3014 TR x|
US912810TX63 T 4 1/4 02/15/54 50% 4474 -0.002
(H2| = 0|=Fx430'3 ETN(H) Al2|=)
R (712 B 100% 4.474 -0.002
KR310101GCA2 £0t04120-2410-02 40% 3.320 0.000
KR310101GDB8 £0t03730-2411-01 30% 3.305 0.000
KAP Sl 3708 &9 x|
KR310104AE62 £2tDC024-0924-0910 30% 3.435 0.000
R (712 B 100% 3.350 0.000
KR310101GD11 £0t03680-2501-02 40% 3.255 0.000
KR310102GC37 £0402320-2503-03 30% 3.240 0.000
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KR310102GE19 £0t03320-2501-01 30% 3.265 0.000
R (712 B 100% 3.254 0.000
KR310101GD78 £0t02320-2503-03 40% 3.187 0.005
KR310101GE51 £0t03410-2503-01 30% 3.265 0.000
KIS St 19 Z9 X4
KR310101GD45 £0t03280-2504-02 30% 3.232 0.000
R (712 B 100% 3.228 0.002
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KIS O/ =%{ 10Y TR X[
US91282CJZ59 T 402/15/34 20% 4284 -0.005
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